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5A 23 AH(H) KR ESyh—il 33—+ 2 ££0OH
No. AJOvY  |MEvYLITISYX 3FC 2FC A | & | kA | 2 | R
A1 |MIRYL ST TSR * 5 — 1 5 — 0 6 10 1 9 1
A2 3FC 1 — 5 * 1T - 1 1 2 6 -4 2
A3 2FC 0 — 5 1T - 1 * 1 1 6 -5 3

5RA 23 8(A) KD EYyh—iR 3a—b 2 FEOR
No. BJOvY% FCATE 6F E—X/T0— | BR | &R | XK | = | B
B1 FCA TS * o — 1 0 — 4 0 0 5 -5 3
B2 GF 1 - 0 * 2 - 6 3 3 6 -3 2
B3 | E—R4xTO— | 4 — 0 6 — 2 * 6 10 2 8 1

5RA 23 8(A) KD EYyh—iR 3a—b 2 FEOR
No. cJovy ARTE/R—T )L E—XE>vY N =2/ BR | #R | XK | & | B
C1 ARTE/S— T L * 3 — 0 3 - 2 6 6 2 4 1
c2 E—REVY 0o - 3 * 0o - 2 0 0 5 -5 3
c3 F SN =2 2 - 3 2 — 0 * 3 4 3 1 2

58 23 A(A) K EYvh—i 83—+ 2 ££EOB
No. DJOovYy ARTES ) —> it 4BKL vy F Ba | B8 | &R | & | E
D1 ARTES ) —> * 4 - 0 5 — 0 6 9 0 9 1
D2 Rt 0o — 4 * 0 — 4 0 0 8 -8 3
D3 4BKLy B 0 — 5 4 — 0 * 3 4 5 -1 2

58 23 A(A) Fsh Y vh—i 83—+ 2 ££EOB
No. EJov4s EaFcC MIPOTSAANX[INT—XKI4 | R | R | k|| & | IBf
E1 BIFC * 0o — 3 2 — 0 3 2 3 -1 2
E2 |mvoy5zanx| 3 — 0 * 2 — 0 6 5 0 5 1
E3 |TAR—X&KTIA4F 0 — 2 0o - 2 * 0 0 4 -4 3

58 23 A(A) KB ESyh—iR 33— 2 £EOE
No. Fovy 7FC WHRT4 ~ |TAR—XLy R BA | 88| &A | & | B
F1 7FC * 3 - 1 0 — 4 3 3 5 -2 2
F2 WHRTA b 1 - 3 * 0o — 2 0 1 5 -4 3
F3 |T<w—XLvyEF| 4 - 0 2 - 0 * 6 6 0 6 1

58 23 A(A) KB ESyh—iR 33— 2 £EOE
No. 67owvy 4BKATIA b YNFLYS 9FC masy MR B8R | KR | £ | Ef
G1 4BKFRIAF * 1 - 1 1 - 0 5 - 7 7 4 3 1
G2 YNALV D 1T - 1 * 3 - 2 4 - 7 8 6 2 2
G3 9FC 0o - 1 2 - 3 * 6 — 1 3 8 5 3 3
G4 Bay - 5 3 = 4 1 — 6 * 0 7 15 -8 4
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